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I x»»n’v's dictum -
a  If: A claims that B owes him 100, B denies any debt and n»7y testify that he owes 50
b Then: B pays 50 (per 0>*7) and takes an oath denying debt of remaining 50
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Argument: his own admission (in case of n¥pna nTn) shouldn’t generate more liability for him than testimony

Possible support: our nawn; each one’s hold on Y2 establishes “testimony” of ownership and each must swear
1 Anticipated challenge (to which ¥7n “1adds “ 301 57”): oath only necessary when he admits part, as per

n17’s explanation of n¥pna N (no one can deny a debt directly to creditor, so he admits to part, ration-

alizing that he’ll get the remaining funds later and complete his obligation) - but not in case of o1y

2 Therefore: v"p employed to counter; suggestions as to gist of v’p (that 07y should be 710 than his own na)
(a) His own admission: doesn’t generate jan 21N, but does generate n»12w 2vn; 0*1Y, who are 11N a7nn...

(i) Block: a man’s admission of financial liability is as strong (stronger?) than witnesses

(if) modification: his own admission cannot generate v1p 21N (1VA VIPa NTIN), but is Y12V 27NN; DITY...

(iii) Block: his own admission generates 129p 2vn (unlike 0»7)
1. Defense: ®»n 1 follows n™ (see above)
a. 2" attempt: substitute “DWR” for "19p” (defeated; DWR::11D)
b. 3" attempt: substitute “wnm” for "127p” (defeated; n™ wMN::j277p)
(iv) block: his own admission cannot be wnam or nnn; 01y are vulnerable to those (v'p defeated)
reformulation: v'p is from 1 witness, who generates n»aw but not jynn
1 block: Tnx Tv3, the oath responds to the ny1y; in this case, he’s responding to what the o1y didn't say (ra-
ther on what he denied)
Rather (979): inferred from ny12w Y15 generated by r"y
1 Block: in that case, it generates another ny1av; but with o1y, they generate 1yon avn
2 Defense: va disproves that, since he takes an oath on something that wasn’t generated by testimony
(a) Block: va is invulnerable to nwnan
(b) Defense: 8"y — vulnerable to nwnan (like n»7) and he generates n»1aw avn
(i) Block: X"y —yam swears in response to the m17y; in re: 07y, he swears in response to omission
(ii) Defense: va
(iii) = nmwn T of na and TNR TY: both come via a claim and denial and lead to nyyaw
1. Inference: 01y come due to claim and denial and should lead to ny1aw
2. Block: in all cases of nmwn Txn, the yan1 hasn’t been proven to be a liar;
a.  However: if there are 071y, he’s already been proven to be a liar
i.  Challenge: X7on "1 ruled that if someone denies a n®119n — not considered a 1193
and is still a valid 7y (which is not the case in re: 1Tp9)
3. Reformulated block: all cases of n1wn Tx aren’t liable for nnr, unlike o1y
4. Response: ®»n "1 doesn’t see nntn ¥ as a challenge (inherently irrelevant to issue — see »"v)
However: the support from our niwn is disanalogous:
1 In &7n’7's case: the mYn has witnesses (and the n% doesn’t; else there wouldn’t be room for an oath)
2 Inour 71w whatever support one has for his claim, the other has the same support
3 (analysis continues in next 719¥)
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